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i6*-eShri Shankaracharya Institute of Professional Management C fecnnoil---*l
j\*, Class Test-I Session-July-Dec.202l Month-November j

i Sem-3d Branch{IVI/TT/ETC/tvrECH II -.-,,_--,- - .- *: ^--. ::_:__ -1. I

i Subject-Mathematics rrr Code_B000311(014) j

I fime dlowed:2 hrs Max Marks: 40 ii-'-lti

i ..., j .. i I Levels of i ij a.N. i questions i ruarLs . ;i;;, i cos i
;li_._ l _ _i - i_!ar9po!sJl*-__ii partr 

I

.lli:iii a 
:solve 

'=f +21{!+bg)
I i \, ) i t4l , Appffig iCA2i

L
i \.r ) i [4J i Apptyng iCO2_i
:iii.ii:, __-. r_ :*_ _ *j_*___J
! Solve the following equation by method of separation of i i i-l
! 

^, ^ -<r, a i i i i

yys4frvu uJ ureurvlJ ur Dspaltatalull uI i i j

4fo*fu=3, u=3e-v-e-sv, r=0 j . i

variables tu 4' -",giventhat when i tst , Applyine i

i1:tiiitil
Applying : CO2 j

il

I

i lSolve i : i I1i__.._iiii

li---'-!ii:
iD.iiiil

l"' :pr("-2y')*nr(r-y2-2x1)=r(r-y'-2x,) i t8l 
, 

ARrlrins ;co2 
l

i Part2

r D. i vanaOles cE oy ,glven that when j tg]rl a--
iiiir i

i i sotrr" :

L i 
^*i(iidiC*'id 

the bidmial aiiriuotion ioi wiiiirr

i i mean =2xvariance,mean+variance =3

; t+l

t8l

1ig 
If a ranaom variable has a poisson's dishibution such that

P(IFP(2), find (r) Mean of the distribution (ii) p(a) .

FitT;Bfi;; distridiion to iil follo*irs ana iiicurite ir,idietiiai i
frequencies

Deaths:0 I 2 3 4
Frequencyl 122 60 15 2 I

ln a normal diiribi S%
are over 64. Find the mean and S.D. of the distribution.

The probabiiiry d;nsity fimctid; p(x) o$ contfiui;us ranaoni

variable is given bV p@) = yoe-l*|,-@ < x < @

I**&-**-
:

ii t8l
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i I8l
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i
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Ap'plying

Applying i CO3

Applying

l
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l
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, 1/j Prove thatyo = l/. . Calculate mean and variance.: /Z*.-.*-.**--......--._



$;isilk";;;hil; irriilrt. of professional Management & Teehnologv

Department of Electronics and Telecommunication Engineering

Class Test - I Session- July-Dec' 2021 Month- November

Sem.ET&T+IT3',|Subject.DigitalSystemDesign.8000313(028)
Time Allowed:2 hrs Max Marks:40

a.
NO.

1.

: - Q.lis compullory and anend any-!fr9n 2;!4'''61 Levels of
Bloom's COs

Understanding CO1

t8l

t8l

t8l

t8l

Apply COl

Apply COI

Apply COl

Design coz

t8l Design COZ

Questions

iiwftat is Hamming code?

b) Explain sequential code?

c) What do you mean by self complementing code?

d) Advantages of graY code?

Reduce using mapping the expression fr =

Fz=Em (0, !,2,3, 4,8, tzl and imPlement

I I M (2, 8, 9, 10, LL,12, L4l,

the real minimal exPression in

Marks

t8l

2.

J

3

universal logic?

a) Device a signal error correcting code for a 11-bit group 01101110101?

b)Test the following hamming code sequence for 11- bit massage and correct

it if necessary (101001011101011)?

obiain ir'," minirir ;ir;;;;6n 'ii"e 
o'i"e - M' CGk"t 'eit'"i'

f(A, B, C, D): f,m (1, 5, 6, 12, 13,14) + d(2' 4)

Design S C O aaOer bY using lC's 7483'

Or

Explane Look ahead carry generator'

6. , Implement a full adder using 8 :l multiplexer'

4.

5.



shri shankaracharya lnstitute of Professional Management & Technology

i{i.,4.r{ .. Department of Electronics and Tetecommunlcatlon Engineering

Ci.iir"'t-rSession.July.-Dec,2021Month.November
SS|FMT,l, Subject. Network Theory ' BOOO314(028)
rAlruR ft:,::'

Note: -

a.
NO.

Time Allowed: 2 hrs Max Marks: 40

AttemPt any 5 question' Atl questtons carry equal marks'

Questions

Determine Vx in the given circuit using nodal analysis'

lCveis of
Bloom's

taxonomY

Applying

t81 Applying

tB1
1.

t-
;;;;;";;"r"^in Equivalent circuit ror the siven

circuit with respect to terminal a-b'

lss (1

rrxr&1v

State and Prove Maximum Power Theorem'

Determine the interrelationship between Transmission

Parameter and HYbrid Parameter'

;.;;.;;;-;.;;;";"' in the circuit siven

Calculate Z-Parameter in the circuit given

2.

t8I

t8l

3.
Remembering

APPlYing

co1

4. 
l

:

\, t81 Apptying

t81 ApplYing

5.

6.

ilo (:



Shri Shankaracharya i;Jil; ;i p."r"*irr"l M;;;s.;;;t c iecrrnology
Department of Electronics and Telecommunication Engineering

Class Test - I Session- July - Dec, 2021 Month- October
Sem- ET&T 3'd Subject- Data Structure Using C++ - 8000315(023)

Time Allowed: 2 hrs Max Marks: 40
Note: - Attenqt any 5 question All questions carry equal marks.

Marks
Levels of
BIoom'sQ.No..

f. i

Questions

Explain the basia aonaepl;f obj;Cidffi6A piogramming.

What is an inheritance? Explain with suitable example.

Write a program to add complex number using the concept of
overloading.

Write a program in C++ to find the greatest number amoung
three numbers using nested if-else statement.

Explain function overloiding concept with suitable example

Write a program in C++ to overload unary operator.

Explain the rules for overloading operators. Also explain
constructor and destructor with their properties.

taxonomy
COs

colt8l Understanding

t8l

t8I

t8l Understanding CO2

Apply COI

Apply . COI

,rO"rr"rd,r, , CO2

Apply COI

Understandins Col'
" co2I8I

4.

5.

6.

7_

\.
t8l

t8l
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Shri Shankaracharya Institute of Professional Management & Technology

. Department of Electronics and Telecommunication Engineering
Class Test - I Session- July - Dec, 2021 Month- October

Sem- ET&T 3"d Subject- Data Structure Using C++ - 8000315(02S)
Time Allowed: 2 hrs Max Marks: 40

\!

(,,

Note: -

Q.NO.

l.

2.

3.

4.

5.

6.

7.

Attempt any 5 question All questions carry equal marlc.

Questions

Explain the basic concept of object oriented programming.

What is an inheritance? Explain with suitable example.

Write a program to add complex rumbe, using the concept of
overloading.

Write a program in C++ to find the greatest number amoung
three numbers using nested if-else statement.

Explain function overloading concept with suitable example

, Write a program in C+; to oGiltd unaii operator.

Explain the rules for overloading operators. Also explain
constructor and destiuctor with their properties.

Levels of
Marks Bloom's COs

taxonomy

tSl Understanding CO I

Understanding COz

Apply r COl

, Apply ' COI

, Understanding , CO2

t8l Applv col

t8l

t8I

t8l

t8I

Understanding :3|'I8I



a.
NO.

Shri Shankaracharya Institute of Professional Management & Technology

Department of Electronics and Telecommunication Engineering

Class Test - I, November -2021
Sem- ET&T 3rd Subject- ED

Time Allowed: 2 hrs Max Marks: 40

Attempt any 5 question. All questions carry equal marks.

Questions

ilfil;,robffi 
""a 

.""o"rti"iry;;i$ dp6fi Eil;Gil i;i;ii";'hip-&-fii#f i-
diffusion constant and KT/q ? l

I

Eipilil mfunty change carrier injection in an n-type semiconductor

I t8l
with respect to time? 

I

e*piii; ,nir" iCii", r"*-fdarr, fyp" of ii.irona"iiot rro* 6-i-d djiltty i - 
-^-

and minority concentration in p and n type Semiconductor? . t8l
:

b"t"*i*"thr ;;#i":ii"ri "f-fr.. "iiitionr 
*O toi"t ln a ia*pt" of '

germanium at 3000K which has a concentration of donor atoms equal to 2'i l0t4 :

atoms/cmr and a concentration of acceptor atoms equal to 3x'1014 atoms/cmr. Is 
t8l

this p or n type germanium? In other words, is the conductivity is due :

primarily to holes or electrons?

FI

IJ

{l

ll

I

I

I

I

t8l

Levels of
Bloom's

taxon-omy

Understandin
oE

COs

: Understandin
I

oD
i

i-

i Understandin
o
b

:

Application

.,,,,,,,,

l,gl Understandin 
I

o.EWrite a short note on Full wave bridge rectifier.

A sample of germanium is doped with 10'4 atoms of
per/cmr while l0'3 atoms of donor impurity/cm3.Calculate

density if at the same temperature the intrinsic resistivity

applied electric field is 3Ylc?

, Explain the energy band diagram for p type and n type Semiconductor?

acceptor impurity
the total current

is 45 Ct-cm and t8l i Application

t8l
: Understandin

I
o,E

\1"


